
PROJECTION: 

COLOR:

NAME

REV.

3D MODEL:

DRAWING:

SIZE:SCALE: 1:20

REPRODUCTION IN PART OR AS A WHOLE

PROHIBITED.
SHEET: 1 OF 5

SERVICABLE:
ENG APPR.

DRAWN

ENG/DRW

DATE

WITHOUT THE WRITTEN PERMISSION OF
STAIRMASTER OR CORE FITNESS IS 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
STAIRMASTER OR CORE FITNESS.  ANY 

MODEL DESCRIPTION:
PROPRIETARY AND CONFIDENTIAL

B .15

REV.MATERIAL:

FINISH:

PRIMARY DIMENSIONS GIVEN
IN MILLIMETERS SECONDARY
DIMENSIONS GIVEN IN INCHES.
UNLESS OTHERWISE SPECIFIED
MATCH 3D GEOMETRY 

TWO PLACE DECIMAL.

TOLERANCES:
ANGULAR:  1° 
WHOLE MEASUREMENTS  1.   
ONE PLACE DECIMAL  .3
TWO PLACE DECIMAL   

THIRD ANGLE 

VENDOR PN:

A

SC5 ASSY

A

4/6/2007KDH

 

6/13/2007

155005

155005

KDH

- -

RING, SNAP 3/8"YES22214369
SPRING, PEDAL RETURNYES2

DATE APPROVED
A ORIGINATED 10/26/2011

REV. DESCRIPTION
KDH

2109368
CHAIN, STEPYES22019967
LINK, DOUBLE PITCH W/SLEEVEYES22129866
WASHER,THRUST,.63 IDYES42136665
WASHER, WAVEYES21244664
WASHER,.635X1.00X.062,STEEL,ZINCYES22214063
 RING,SNAP,5/8",ZINC PLATEDYES22214162
ASSEMBLY, LEVELING ARMYES2003-368361
WASHER, 3/4", NARROW, FLATYES22187160
RING, SNAP 3/4"YES42021359
CONNECTOR, SPRING CHAINYES22076858
LINK, MASTER, #40YES22015757
LINK, MASTER, #41YES12000856
1 1/4" REAMED LOCK COLLARNO107-606555
COVER, RIGHT PEDAL, STRUCTURAL FOAMYES11311254
ASSEMBLE, PEDAL PAD, LEFTYES11315753
WASHER, #10, INTERNAL TOOTH LOCKYES121354752
BEARING, IGUS, .750"X.875" O.D. X .500" LENGTHYES21308851
COVER, LEFT PEDAL, STRUCTURAL FOAMYES11310950
ASSY, PEDAL PAD, LEFTYES11315849
SCREW,.250-20X1.00,HEX HD CAPYES82202648
SPACER, ALTERNATER, SC916YES11317047
WASHER, SHOULDER, .38 I.D.YES22219146

ITEM NO. PART NO. QTY. SERV. DESCRIPTION
1 055-0016 1 NO WELDMENT, MAIN FRAME
2 003-3703 2 YES ASSY, HANDLEBAR, UPRIGHT
3 13042 1 YES ASSEMBLY, CHR HANDLE, OVERMOLDED
4 003-3690 1 YES WELDMENT, CONSOLE MAST
5 002-0368 2 YES SCREW, 5/16-15X2" HEX HEAD, GR5 BLACK
6 22032 4 YES NUT,.312-18,NYLON INSERT, HEX
7 22075 9 YES WASHER,.375X.875X.078,STEEL,ZINC
8 22165 7 YES SCREW,.312-18X1.00,HEX HD CAP
9 002-0778 4 YES WASHER,FLAT 1/4 TYPE B, NARROW

10 22164 8 YES SCREW, .250 - 20 x 1.25, HEX HD CAP
11 24162 2 YES BUTTON HEAD CAP SCREW 0.250"-20 x 0.375
12 22018 4 YES .312-18, NUT, HEX
13 22070 5 YES WASHER,SPLIT LOCK,.312
14 22074_13000 2 YES EDGE TRIM, RUBBER, 3/8 X 5/16
15 055-0062 2 YES END CAP
16 13207 1 YES END CAP,ROUND,2" 10 - 14GA.
17 055-0014 1 YES COVER, LOWER PLUG RECEPTACLE
18 055-0085 1 YES CARGO TRAY, LOWER
19 055-0082 1 YES CARGO TRAP, UPPER
20 055-0017 2 YES CAP, LEVELING SUPPORT
21 055-0042 1 YES COVER, TOP
22 055-0040 1 YES COVER, RIGHT W/DECALS
23 055-0041 1 YES COVER, LEFT W/DECALS
24 56-0298 1 YES Grommet Rubber 1.625
25 22205 8 YES NUT, JAM HEX, 1/2-13
26 24640 2 YES SCREW,.375-16X1.75 HEX HD CAP
27 24643 2 YES NUT,.375-16,NYLON INSERT, HEX, THIN
28 27585 4 YES WASHER,.406X1.25X.047,STEEL,ZINC
29 20188 2 YES MOUNT, SHOCK
30 002-0439 2 YES WHEEL, RUBBER, 2" (1G003110394)
31 40670 6 YES SCREW, #1/4-20 X .75, PAN HEAD, W/LOCK WASHER
32 17686 4 YES LEVELING PAD (.500-13UNC-2A X 2.25 BASE)
33 22347 1 YES CHAIN, TRANSMISSION, .50" PITCH
34 13152 1 YES BELT, FLEX, POLY-V, 6 G, 7.15 C TO C
35 13048 1 YES BELT, FLEX,  POLY-V, 6 G, 14.29 C TO C
36 13009 1 NO ASSY, ALTERNATOR
37 13071 1 NO ASSY, SECOND REDUCTION PULLEY
38 22036 12 YES NUT,.250-20,NYLON INSERT, HEX
39 13066 1 NO ASSEMBLY, FIRST REDUCTION PULLEY
40 13075 2 YES BRACKET, PEDAL CHAIN RETAINER
41 13054 1 YES ASSEMBLY, DRIVE HUB, SC916
42 22030 2 YES WASHER, FLAT, 3/8 ZINC PLTD
43 22047 10 YES WASHER,.281X.625X.063,STEEL,ZINC
44 22097 1 YES SCREW, .375-16X2.75 HEX HD CAP
45 22029 1 YES NUT,.375-16,NYLON INSERT, HEX

ITEM NO. PART NO. QTY. SERV. DESCRIPTION
70 21462 2 YES WASHER,0.390X.630X.060,STAINLESS STEEL
71 21519 2 YES PULLEY, SPRING
72 22878 2 YES SCREW, SET,0.25-28x0.375
73 13053 1 YES SPACER, PEDAL SHAFT
74 13052 1 YES SHAFT, PEDAL ARMS, SC916
75 13005 1 YES ASSEMBLY, PEDAL ARM, RIGHT
76 13003 1 YES ASSY, PEDAL ARM, LEFT
77 055-0011 1 YES ASSY, SC5 POWER TO TOGGLE SWITCH, PIGTAIL
78 055-0097 1 YES TOGGLE SWITCH TO CONSOLE, POWER PIGTAIL
79 055-0098 1 YES POWER PIGTAIL, TOGGLE SWITCH TO CONTROL BOARD
80 13204 1 YES HARNESS, T-BAR GRIP TO CONSOLE,  RoHS
81 055-0010 1 YES ASSY, CABLE SC5 BOARD/CONSOLE
82 055-0015 1 YES CARLING P/N 622222-BB-NE
83 13082 1 YES ASSEMBLY, CONTROL BOARD
84 22139 1 YES SCREW, .250 X .50, SELF THREAD, HWH, F
85 13190 4 YES SCREW #6-32x0.5, FLAT HEAD
86 22027 4 YES WASHER,SPLIT LOCK,.250
87 40443 6 YES SCREW, #10-32 X 1.0, OH, S.S.
88 40654 2 YES SCREW, #10-32 X .75, PAN HEAD, W/LOCK WASHER
89 17578 2 YES WASHER, LOCK, INT. STAR, #10, SS
90 17815 2 YES SCREW, #10-32 X .50, PAN HEAD, S.S., HEX DRIVE, BLACK OXIDE
91 13201 12 YES SCREW, #10-32 X .375, PAN HEAD PHILLIPS
92 13191 4 YES SCREW, 1/4-20 X 2.50, PAN HEAD, W/LOCK WASHER

79 7881

80

https://www.gympart.com/itemdesc.aspx?ic=STS1192&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1001&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1061&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1036&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1042&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1764&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1765&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1200&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1193&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1038&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10529&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11744&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11692&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11613&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM057&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1055&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1000&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1037&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1015&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1024&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1025&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1005&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1016&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST12021&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1017&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1047&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM004&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM016&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM008.2&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMAB08&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM068&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM055&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM053.1&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM4410&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM44AB81&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM4408&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1018&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SML053&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SML074&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SML073&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMC1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10534&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SMAB09&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM4471&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10395&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SM4402&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1620&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SML076&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10177&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SML094&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10543&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


PROJECTION: 

COLOR:

PROPRIETARY AND CONFIDENTIAL
MODEL DESCRIPTION:

REV.

3D MODEL:

DRAWING:

SIZE:
PROHIBITED.

SHEET: 2 OF 5

SERVICABLE:
ENG APPR.

DRAWN

ENG/DRW

DATENAME

STAIRMASTER OR CORE FITNESS IS 
WITHOUT THE WRITTEN PERMISSION OF
REPRODUCTION IN PART OR AS A WHOLE
STAIRMASTER OR CORE FITNESS.  ANY 

 .15

DRAWING IS THE SOLE PROPERTY OF
THE INFORMATION CONTAINED IN THIS

SCALE: 2:1

FINISH:

B

REV.MATERIAL:

PRIMARY DIMENSIONS GIVEN
IN MILLIMETERS SECONDARY
DIMENSIONS GIVEN IN INCHES.
UNLESS OTHERWISE SPECIFIED
MATCH 3D GEOMETRY 

TWO PLACE DECIMAL.

TOLERANCES:
ANGULAR:  1° 
WHOLE MEASUREMENTS  1.   
ONE PLACE DECIMAL  .3
TWO PLACE DECIMAL   

THIRD ANGLE 

VENDOR PN:

SC5 ASSY

A

4/6/2007KDH

 

6/13/2007

155005

155005

KDH

A
- -

33

37

39

34

48

38
43

56

85

26

30
28

27
29

717069

20

1

77

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


PROJECTION: 

COLOR:

PROPRIETARY AND CONFIDENTIAL
MODEL DESCRIPTION:

REV.

3D MODEL:

DRAWING:

SIZE:
PROHIBITED.

SHEET: 3 OF 5

SERVICABLE:
ENG APPR.

DRAWN

ENG/DRW

DATENAME

STAIRMASTER OR CORE FITNESS IS 
WITHOUT THE WRITTEN PERMISSION OF
REPRODUCTION IN PART OR AS A WHOLE
STAIRMASTER OR CORE FITNESS.  ANY 

 .15

DRAWING IS THE SOLE PROPERTY OF
THE INFORMATION CONTAINED IN THIS

SCALE: 1:8

FINISH:

B

REV.MATERIAL:

PRIMARY DIMENSIONS GIVEN
IN MILLIMETERS SECONDARY
DIMENSIONS GIVEN IN INCHES.
UNLESS OTHERWISE SPECIFIED
MATCH 3D GEOMETRY 

TWO PLACE DECIMAL.

TOLERANCES:
ANGULAR:  1° 
WHOLE MEASUREMENTS  1.   
ONE PLACE DECIMAL  .3
TWO PLACE DECIMAL   

THIRD ANGLE 

VENDOR PN:

SC5 ASSY

A

4/6/2007KDH

 

6/13/2007

155005

155005

KDH

A
- -

43

47

46
4245

35

7 13

8 42 44

40

10

41

36

38

49

55
*

73

67
58

57
68

59

74

60

59

62
63

64

65

76

66
61

75 53

54

52

51
50

91

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


84

83

7

3

15

5 7

11

16

8

7

13

12

2

25
9

86

10

32

8

6

4

6

PROJECTION: 

COLOR:

PROPRIETARY AND CONFIDENTIAL
MODEL DESCRIPTION:

REV.

3D MODEL:

DRAWING:

SIZE:
PROHIBITED.

SHEET: 4 OF 5

SERVICABLE:
ENG APPR.

DRAWN

ENG/DRW

DATENAME

STAIRMASTER OR CORE FITNESS IS 
WITHOUT THE WRITTEN PERMISSION OF
REPRODUCTION IN PART OR AS A WHOLE
STAIRMASTER OR CORE FITNESS.  ANY 

 .15

DRAWING IS THE SOLE PROPERTY OF
THE INFORMATION CONTAINED IN THIS

SCALE: 2:1

FINISH:

B

REV.MATERIAL:

PRIMARY DIMENSIONS GIVEN
IN MILLIMETERS SECONDARY
DIMENSIONS GIVEN IN INCHES.
UNLESS OTHERWISE SPECIFIED
MATCH 3D GEOMETRY 

TWO PLACE DECIMAL.

TOLERANCES:
ANGULAR:  1° 
WHOLE MEASUREMENTS  1.   
ONE PLACE DECIMAL  .3
TWO PLACE DECIMAL   

THIRD ANGLE 

VENDOR PN:

SC5 ASSY

A

4/6/2007KDH

 

6/13/2007

155005

155005

KDH

A
- -

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


PROJECTION: 

COLOR:

PROPRIETARY AND CONFIDENTIAL
MODEL DESCRIPTION:

REV.

3D MODEL:

DRAWING:

SIZE:
PROHIBITED.

SHEET: 5 OF 5

SERVICABLE:
ENG APPR.

DRAWN

ENG/DRW

DATENAME

STAIRMASTER OR CORE FITNESS IS 
WITHOUT THE WRITTEN PERMISSION OF
REPRODUCTION IN PART OR AS A WHOLE
STAIRMASTER OR CORE FITNESS.  ANY 

 .15

DRAWING IS THE SOLE PROPERTY OF
THE INFORMATION CONTAINED IN THIS

SCALE: 2:1

FINISH:

B

REV.MATERIAL:

PRIMARY DIMENSIONS GIVEN
IN MILLIMETERS SECONDARY
DIMENSIONS GIVEN IN INCHES.
UNLESS OTHERWISE SPECIFIED
MATCH 3D GEOMETRY 

TWO PLACE DECIMAL.

TOLERANCES:
ANGULAR:  1° 
WHOLE MEASUREMENTS  1.   
ONE PLACE DECIMAL  .3
TWO PLACE DECIMAL   

THIRD ANGLE 

VENDOR PN:

SC5 ASSY

A

4/6/2007KDH

 

6/13/2007

155005

155005

KDH

A
- -

18

23

92

88

31

17 31

87

21

14
2

90

89

19

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

